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(3) WBEEFEIINTC2EBEEFCI

(4) switch XIFHEDIRLXD1DTY

(5) for X[FEHEIL—TTY

(6) do while XIFEIHIEI—TTT

(7) for XDFEHRZEBIBTDERIC true EIXDFET
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(1) booleanb = (I (1) h==[ 1) |;

(2) boolean b = false || [ (2) |;

(3) boolean b = (false ==| (3) |) && false;

(4) boolean b = (false && false) || [ (4) |;

(5) boolean b = (true ? false : true) == (5)
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int[] aryl={1,2,3};

int[][] ary2={{0,1},{2},{3,4,5}};

(1) System.out.print(aryl[1]);

(2) System.out.print(aryl[aryl[1]]);

(3) System.out.print(aryi[aryl.length-1]);

(4) System.out.print(ary2[@][1]);

(5) System.out.print(ary2.length);

(6) System.out.print(ary2[2].length);
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1: int[] a={1,2,3};
2: int[] b=a;

3: b[1]=0;
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01: class Final@7{

02: public static void main(String[] args) {

03: data={1,3,5,2,1,3,4,1,7,7,3,4,5,3,3,2};

04: int choices;

05: int[] results;

06: choices=data[0];

07: for(int d:)

08: if(d>choices)choices=d;

09: results = int[choices];

10: for(int d:data)

11: r‘esults[]++;

12: for(int i=0;i<r‘esu1ts.;i++)

13: System.out.println(" &R "+(i+1)+" : "+r'esu1ts[|z|]+"1¢");
14: }

15: }
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(1) if(i==j)continue; (2) if(i>j)continue;
(3) if(i==1)break; (4) if(j==1)break;
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01: for(int i=0;i<3;i++){
02: for(int j=0;3j<3;j++){
03: C %)
04: System.out.print(j);
05: }
06: System.out.println();
07: }
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